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QUESTION 1

On the Cisco ME 3400 switch, spanning tree is enabled by default on which type of switch port? 

A. UNI 

B. ENI 

C. NNI 

D. ENI and NNI 

E. UNI, ENI, and NNI 

Correct Answer: C 

http://www.cisco.com/en/US/docs/switches/metro/me3400/software/release/12.2_25_seg_seg1/c
onfiguration/guide/swstpopt.html#wp1002608 

 

QUESTION 2

Which three are correct statements based on the BGP configuration below? (Choose three.) 

Router#config t Router(config)#router bgp 1 Router(config-router)#neighbor 1.1.1.1 remote-as 1 Router(config-
router)#neighbor 3.3.3.3 remote-as 2 

A. local AS is 1 

B. local AS is 2 

C. neighbor 1.1.1.1 remote-as 1 is iBGP peer 

D. neighbor 1.1.1.1 remote-as 1 is eBGP peer 

E. neighbor 3.3.3.3 remote-as 2 is iBGP peer 

F. neighbor 3.3.3.3 remote-as 2 is eBGP peer 

G. neighbor 2.2.2.2 remote-as 2 is iBGP peer 

H. neighbor 2.2.2.2 remote-as 2 is eBGP peer 

Correct Answer: ACF 

 

QUESTION 3

Select and Place: 
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Correct Answer: 
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QUESTION 4

Refer to the two show output examples below. The switch with the e8ba.70b5.7180 MAC address is the root bridge for
which VLAN or VLANs? 

640-878 PDF Dumps | 640-878 Practice Test | 640-878 Study Guide                                4 / 8

https://www.pass4lead.com/640-878.html
https://www.pass4lead.com/640-878.html
https://www.pass4lead.com/640-878.html


https://www.pass4lead.com/640-878.html
2022 Latest pass4lead 640-878 PDF and VCE dumps Download

640-878 PDF Dumps | 640-878 Practice Test | 640-878 Study Guide                                5 / 8

https://www.pass4lead.com/640-878.html
https://www.pass4lead.com/640-878.html
https://www.pass4lead.com/640-878.html


https://www.pass4lead.com/640-878.html
2022 Latest pass4lead 640-878 PDF and VCE dumps Download

A. VLAN 1 

B. VLAN 70 

C. VLAN 80 

D. VLANs 1, 70, and 80 

E. VLANs 1 and 70 

F. VLANs 1 and 80 

G. VLANs 70 and 80 

Correct Answer: C 

 

QUESTION 5

Which four statements about REP configurations on a Cisco ME 3400 switch port are true? (Choose four.) 

A. The port must be an NNI type and must be in trunk mode. 

B. Use the rep segment number command to enable REP on the switch port. 

C. A REP segment cannot be wrapped into a ring topology. REP supports only a topology where each REP segment
has two exit points via two edge switches. 

D. The port where the segment terminates is called the edge port. 

E. With REP, at least one port is always blocked in any given segment-that is, the alternate port. 
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F. If a failure occurs within the segment, the blocked port goes to the forwarding state after it goes through the listening
state and the learning state. 

Correct Answer: ABDE 
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